#### ordinance no. 09- 25

#### AN ORDINANCE ACCEPTING MFT BIDS (MFT PROGRAM FOR FY 2010)

WHEREAS; the Village of Chatham, through the State of Illinois, sought and obtained bids for maintenance of various streets in within the Village of Chatham using Motor Tax Fuel funds; and

WHEREAS, the bids where opened on June 2, 2009 at 8:00 a.m. and the lowest responsible bidders were identified per the attached Bid Summary; and

NOW THEREFORE, BE IT ORDAINED by the President and Board of Trustees of the Village of Chatham, Sangamon County, Illinois as follows:

Section 1: That the following bids are hereby accepted:

<u>Vendor</u>	Description of Work	<u>Price</u>
IRC, INC	Oil & Chip	\$ 27,971.53
P.H. Broughton Inc.	Mill & Overlay	\$ 73,904.29

Section 2: That the appropriate officials be and are hereby directed to sign the necessary Illinois Department of Transportation forms and the Clerk is hereby directed to cause said forms to be returned to the Department of Transportation.

Section 3: This Ordinance shall be in full force and effect from and after its passage and approval as provided by law.

Pass	<b>ed</b> this 9 <sup>th</sup> day of June,	2009.	18	TELLINO
Ayes:	6 KAUDNAGH SCHOT	TEMAN	<i>y</i> ,	ELVELOSHOD) E
Nays:	0			18 / S
Absent:	0			OF CHATE
ATTEST:	Pat Schad, Clerk	AGE OF CHARLES	Thomas S. Gray, P. Village of Chatha	resident



	Route	e <u>Various Stree</u>	ts
	Count	y Sangamon	
	Local Agenc	y Village of Cha	atham
		n <u>09-00000-01-</u>	
To P.H. Broughton & Sons, Inc.			
Address 905 North Lincoln Avenue, Springfield, Illinois 62702			
In accordance with your  proposal  quotation submitted on been awarded the contract for furnishing the following materials reddesignated work:		y of which is in or tion 🖾 maintena	ur files, you have ance of the above
Item	Quantity	Unit Price	Amount
1.) Hot Mix Asphalt Surface Course Mix "C" N50	722.00	\$ 79.25	\$ 57,218.50
2.) Bituminous Materials Prime Coat	2031.00	\$ 0.01	\$ 20.31
3.) Hot Mix Asphalt Surface Removal Butt Joint	462.00	\$ 2.90	\$ 1,339.80
4.) Hot Mix Asphalt Surface Removal Variable Depth	4196.00	\$ 2.90	\$ 12,168.40
5.) Temporary Ramp	128.00	\$ 0.01	\$ 1.28
5.) Adjust Valve Boxes	2.00	\$ 200.00	\$ 400.00
7.) Adjust Manhole Rings	2.00	\$ 200.00	\$ 400.00
3.) Traffic Control and Protection	1.00	\$ 2356.00	\$ 2356.00
Геrms <u>N/A</u>			
Shipping Instructions To Follow			
Materials shall be inspected in accordance with current Department		~ <i>9</i>	
Date Approved	Issued 6-9	unicipal Clerk	
Regional Engineer	Highwa	ay Commissioner	
copies to Regional Engineer  Approved Original to Successful Bidder	County Engineer / Cou	unty Superintendent o	of Highways



	Route	Various Streets	
	County	Sangamon	
		Village of Cha	itham
		09-00000-00-	
To IRC, Inc			
Address 520 North Webster, P.O. Box 1060, Jacksonville, IL 62651			
In accordance with your $\boxtimes$ proposal $\square$ quotation submitted on $6/2/200$ been awarded the contract for furnishing the following materials required in designated work:	, а сору		ur files, you have ince of the above
Item	Quantity	Unit Price	Amount
Bituminous Materials, Seal Coat (HFRS-2), Deliver and Install	\$ 5,307.00	\$3.0000	\$15,921.00
Seal Coat Aggregate, CA-16, Pre-Coated Agg. (HFE-150), Deliver/Install	\$ 241.00	\$50.0000	\$12,050.00
	:		
,			
			<del> </del>
	<u> </u>		
Ferms N/A			
Shipping Instructions To Follow			
Materials shall be inspected in accordance with current Departmental policies	es		
	_		
Date Issued _	6-9	-05	
	6-9	10	
Approved		icipal Clerk	
transport			
Regional Engineer	Hinhwa	Commissioner	
. regional anginees	1 119114443	,	
copies to Regional Engineer			
Approved Original to Successful Bidder C	ounty Engineer / Cour	ity Superintendent o	of Highways



	Route	Various Streets Sangamon		
	County			
			Village of Chatham	
		_09-00000-01-		
To P.H. Broughton & Sons, Inc.				
Address 905 North Lincoln Avenue, Springfield, Illinois 62702				
In accordance with your  proposal  quotation submitted on been awarded the contract for furnishing the following materials redesignated work:			ur files, you have ince of the above	
ltem	Quantity	Unit Price	Amount	
1.) Hot Mix Asphalt Surface Course Mix "C" N50	722.00	\$ 79.25	\$ 57,218.50	
2.) Bituminous Materials Prime Coat	2031.00	\$ 0.01	\$ 20.31	
3.) Hot Mix Asphalt Surface Removal Butt Joint	462.00	\$ 2.90	\$ 1,339.80	
4.) Hot Mix Asphalt Surface Removal Variable Depth	4196.00	\$ 2.90	\$ 12,168.40	
5.) Temporary Ramp	128.00	\$ 0.01	\$ 1.28	
5.) Adjust Valve Boxes	2.00	\$ 200.00	\$ 400.00	
7.) Adjust Manhole Rings	2.00	\$ 200.00	\$ 400.00	
8.) Traffic Control and Protection	1.00	\$ 2356.00	\$ 2356.00	
Terms N/A				
Shipping Instructions To Follow		······································		
TO TOILOW				
Materials shall be inspected in accordance with current Departmen	ntal policies			
	<i>!</i> //	06		
Date	e Issued6 - 9	707		
Approved	e Issued $\frac{6-9}{6}$	Kan		
		nicipal Clerk		
Regional Engineer	Highway	y Commissioner		
5 copies to Regional Engineer				
Approved Original to Successful Bidder	County Engineer / Cour	nty Superintendent o	of Highways	



	Route	various Stree	ts
	County	Sangamon	
		Village of Cha	itham
		09-00000-00-	
- IDO I			
To IRC, Inc			
Address 520 North Webster, P.O. Box 1060, Jacksonville, IL 62651			
In accordance with your  proposal  quotation submitted on 6/2/200 been awarded the contract for furnishing the following materials required in designated work:	, , a oop,	v of which is in ou ion ⊠ maintena	ur files, you have ance of the above
Item	Quantity	Unit Price	Amount
Bituminous Materials, Seal Coat (HFRS-2), Deliver and Install	\$ 5,307.00	\$3.0000	\$15,921.00
Seal Coat Aggregate, CA-16, Pre-Coated Agg. (HFE-150), Deliver/Install	\$ 241.00	\$50.0000	\$12,050.00
	}		·
Terms N/A			
Shipping InstructionsTo Follow			
Materials shall be inspected in accordance with current Departmental policie	es		
Date Issued	6-9-	-09	
	6-9- In f 1	10	
Approved		nicipal Clerk	
Regional Engineer	Highwa	y Commissioner	
5 copies to Regional Engineer			
Approved Original to Successful Bidder	ounty Engineer / Cou	nty Superintendent o	of Highways